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  ا�	����ء
  ) د��C))   (15  �Cط  4(   1ا�1���2 

�ود�� ����� �� ����� ���#ن +$(�  *(�س �#ا&$� �%$#ل �� إ �-2S 2cm=  �.��� ����)/ �01- ،L 1cm=   

Sــ أ��6 �5/�� ا $4(�  1
k

L
  (1).; ا �<�م ا >� �;  $#�:ات  =

Gــ أB CDE(�س �#ا&$� �%$#ل ا *(��  2 795 S= µ  (1)، أ��6 �#&$(� ا �%$#ل  

3  G+H��ود�� ، .�� Iا ���.� /(� ا �)JKا �%$#ل و L1�/ M1�%K ــL ' 2cm=   
� ، ا �#ا&$�  1ــ  3)J- يG ا �*:ار ا ��G  �)$&#� أم اσ  (1)؟  
� ؟ 2ــ  3)J�       (1) �� ا *(�� ا R:�:ة  $�*:ار ا �

  )د��C))  (55 �Cط  8(  2ا�1���2 
��=��� ا�?Lا��G� ا,��(�ت *���ل ���� �
�2ي �
�iX  ھ�[ ]i iG k X= λ∑  أن O�
(iλ  ���Lا���

   iXا������ ا,��(�� ���ع ا,��(� ا�	������ 

 ��JK ، �E�S- ��  : .; ا �%� (� ا �� (� ،  B �)$+k(�س ا �#ا&$� ذي �5/

)ــ  )1S :)رو��:)�  ;V�� ا 0#د�#م  �%$#ل(Na (aq) HO (aq))+ ��(Xه ا �# ;  +−-3C 1,00 10 mol / L−= ×   

 C$E �0%�.3
1G 2,75 10 S−= ×   

)ــ  )2S  رور ا 0#د�#م#$�  ;V�� ل#$%�( )Na (aq) C (aq)+ −+ ℓ  ; #� ه اX)��-2C C=  C$E �0%�. ،

3
2G 1,31 10 S−= ×   

)ــ  )3S  �)Yرور ا �(:رو#$�  ;V�� ل#$%�( )3H O (aq) C (aq)+ −+ ℓ  ; #� ه اX)��-3C C=  C$E �0%�. ،

3
3G 4,43 10 S−= ×   

��(X ا �# ;  1�� �E ا SE 3ــC 1,00 10 mol / L−= 3molب  × / m     )0,5(  

2  �)S<- 6�$(�ت ا �# (� ا`�#�K#�_  �)Kت ا �#Y#دة &، �#ا&$� �� �� ا �%� (� ا ^[ث /:] � ا �# 3Gو  2Gو  1Gــ أ�

��(X ا �# ; �  )k  )1,5و�5/�� ا C  �)$4.; �� �%$#ل وا 

3  a)$+ �b#ن �� ا ــ درا��1S  2وS   

 �)�R� جX�K1V 100mL=  ��1 ا �%$#لS  2وV 100mL=  ��2 ا �%$#لS  a)$+ C$E �0%�.1M   

�S*K Kج ا �%$# (� أX� :�E d ث أي:%� [ ;V�)�)� �E�1-  .  

�/(� أن )S<- M1G  ���YX� :</  � �% ه اGھ ;. a)$4 ھ# �#ا&$� ا :( )M1 1 2
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= +  .(1) 

 ��)B 6أ��M1G (0,5)  

   -%:�: �#&$(� +$(a +[ل -%#ل �(�(�V;  ــ 4

X� :�E1Vج  100mL= ا �%$#ل ��( )1S  3وV 50mL=ا �%$#ل �� ( )3S  ،  ت�K#�`ا �)/ ;V�)�)� ث -%#ل:%�

 �D)g� اHO (aq)−  3وH O (aq)+  �) ��  : dYG��K /� �>�د � ا �(�(�V(� ا 

  3 2H O (aq) HO (aq) 2H O( )+ −+ → ℓ  

  �D)gK �)h ;�. ى�  /(��� ا`�#�Kت ا`+



�k ا ���E�1  و ا �� ;ا R:ول ا #&1;  أ-�j 1 ــ  4��bا C0B`م ا:*�  (1)ا �%: وا 

3 2H O (aq) HO (aq) 2H O( )+ −+ → ℓ  �)V�)�)� ا �>�د � ا  

�1CV  3CV  x  و.(   /:ا�� ا �%#ل  =0
�  +[ل ا �%#ل  x      و.(
�  ����K ا �%#ل  maxx      و.(

  

� �# /(� أن 2ــ  4)S<-اa)$4 ل  &$� ا#%��E(x: /:ا�� ا  1: ھ#  =(0 3
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� ا �#ا&$�  3ــ  4)S<- أن �)/  �)V��� ا %� � ا ;.maxx x=  #1: ھ 2
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+
=  d��)B 6(1) وا��  

�=�� )�1 أن 4ــ  4?  ��Lا���ا 
���9
� : ھ� t  ���2��A ا�
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 (2)            

m*%-j)B MG ��  5ــ  4 MGو  (0) (f ) (0,5)      

)ا 0#د�#م  ــ �:د -��(X �%$#ل �$#رور 6 )2S  a)$4 ا ا �%$#ل ھ; �#ا&$� اGا&$� ھ#� oK�� إذا �� � �� ;.

S)1ا �X� :�E d)$E �0%ج ا �%$# (�  S)2و  ( ) (1)     

  ا������ء
�* !<R ا,رض  1� �Sط�C! 
  )د��C) ) (30  �Cط  5( . ــ U �ب !��� �<�ة ��ء �<� ��

 ��E�<p ة��ة ��ء /�DB جG��KR  �)�R% ا ���$�C$Ez ار-�1ع   ، اeauρ :Y#- �/�%b �� o*$DKو � h= �� Dbح   

 ��:<�� �E��#ى Dbح ا`رض . ا`رض ، /��� �) �*�4��ر ����B�D  vY ا #vw ا K( z 0= .  

�ة ا ��ء �E: اDK[��B �� ا �%�/� /:] �   1ــ  1D*  �) �*�� ط��B ا #vw ا )S<- 6�eauρ  . jR� ;D<Kو Rو gو hأ�

 ��E�<p ة��R  #34: ھ
V R

3
= π  .(0,5)      

     (0,5)�� ھ; ط��B و�E ��<w: و&# �� إ Db Cح ا`رض ؟   2ــ  1
��� ا %��(� �E: و&# d إ Db Cح ا`رض /:] �  أوY:  3ــ  1Bط� �)S<-eauρ  وR  وvsol .    )1(  

�ة ا ��ء .; b*#ط ��   4ــ  1DB أن �S�<K . �)���ھ�� ا �B�D ا %S� m)SD�/ ، �E��b �E*#ط  vsolأ��6 ا �b ،
�ة Db C$Eح ا`رض D* ا . ;D<Kh 5km= وg 9,8N / kg= .)1(  

�ة �E: و&# �� إ Db Cح ا`رض ھ;   5ــ  1D* ا �E�b أن vBا #ا ;.solv ' 100m / s= .  

�ة K%# ا`رض D* ط ا#*b ت +[ل������ة /(� أن ھ��ك ا�D*$  �)�)K��)� ا �B�D ا �)J- m)SD�  )1(. أ ــ  /
�k ا �B�D ا �1*#دة +[ل ا �*#ط  و ب ــ  إ C ��ذا �>Xى وY#د ھGه ا]������ت ؟ أ��B �Jp 6#ى ا]������ت��bا

;D<K:3
eau 1g cmρ = �ة  /D* ا �DBوd 1cm=  .)1(  


 ــ U �ب ا�
�ارة ا�	 2��  )د��C)(  ) )20  �Cط  ��  . )3�� �SW);ر ا��
 C$E �%�1�#ي ��>m 200g=  d-ار�� �Y��1 ا ��ء در 50 Cθ = °  �<DB ����  K ،:)$Y:+� .; ا ��>$��2m 100g= 

�ار-�� � �Y2ودر 10 Cθ = − °  �D<KC; ا �>� ا %�ار��  $��> 190J / Kµ = :�E �� در�Y ا %�ارة دا+� ا ��>*��- ، 

f 10,87 Cθ = °    ) �Xر�Yط ا��
   )ا�� �� ; �2=�دل أي ]	@ �1 أ]	�ل ا�<��� �Z ا��

�*�ل ھGا ا ��Sدل ؟ %:ث دا+� ا ��>� ؟  �� K#ع ا ��Sدل ا B�D; ا � 1ــ 2Kا C%�� (0,5) �:د 
��#د����({  2 ــ 2�    (0,5)  .أK aE~ ا �S:أ ا`ول  $
�m)SD ھGا ا �S:أ   3ــ  2/ �     (1). �:د ��(� ا �B�D ا %�ار�� ا �1*#دة �� ط�ف ا ��ء وا ��>
�m)SD ا �S:أ ، 4ــ  2/ ��S���- ;�� ا �B�D ا %�ار�� ا )S<- :Yأو  :)$R ا �<DB �)S<- k���bواfL  ����� ارة ا�ا %

 :)$R ��0ر اK[ (1)      
 ;D<K : ء��$  �)$�1ا %�ارة ا � 1Ce 4180J.kg .K− −=  :)$R$  �)$�1: و ا %�ارة ا � 1Cg 2100J.kg .K− −=   

 


